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. Which choice is wrong?
that everyone likes him.
A. The boy is so nice B. He is so nice a boy

C. He is such a nice boy D. He has made so rapid progress
. Which choice is wrong? He looks young. But he
is in his late forties.

A. in fact B. as matter of fact
C. as a matter of fact D. really
. The doctors in the W®spital tried their best to save the pa-
tient, and before long he began to .
A. come to (himself) B. come true
C. come near D. come on
. We called on the doctor to ask the patient we
had sent there.
A. about B. to
C. for D. with



5.

6.

9.

10.

11.

As soon as Mother had finished »she went into
her room to watch A NATIVE OF BEIJING IN NEW
YORK on the screen.

A. wash up B. washing up

C. to wash up D. washed up

The Summer Olympics about two weeks and the
summer athletic events are five categories.

A. run for - divided into

B. go for -~ spilt into

C. run for <-- separated into

D. go on for °-¢ broken into

Which choice is wrong?

A. We are sure of /about his success.

B. He is sure to succeed.

C. We are sure that he will be successful.

D. We are sure in his success.

Do you know the man who is going to aur class?
A. in charge of B. under the charge

C. be in charge of D. take in charge of

Which choice is wrong? He mountains.

A. is fond to climb B. is fond of climbing

C. likes climbing D. goes in for climbing

“What’s the trouble with Jane?”“She is a cold. ”
A. up with B. down with

C. up to D.down of

He has given us how to study English.

A. some advices on B. some pieces of good advice on
C. some advises on D. some advice with
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12. As a student, you must not always TV.
A. be watching B. watched
C. be watched D. be watching at
13. His works have been many foreign languages.
A. translating into B. translated into
C. translate into D. translation into
14. It is very kind you to invite me to the party.
A. of B. for
C. with D. to
15. It is very important you to learn English well.
A. of B. for
C. with D in
L. $AERR3FRE
16. T think better to get off at the next stop.
A B C D
17. It was so nice weather thatwe will all go for an outing.
A B C D
18. Please speak loud to make yourself hear.
A B C D
19. It’s impossible for such few workers to finish such a lot
A B
of work in such a short time.
C D
20. Everyone of us has got a copy of English-Chinese
A B C
Dictionary.
D




FZEBS  KIBBMG]

1. BINENF

1. We were watching TV _. we caught sight of a
friend of ours.
A. as soon as B. while
C. when D. once

2.''The price of diamond rings has risen sharply the
price of gold rings has gone down.
A. when B. as
C. while D. otherwise

. It is a long time since I last saw you. This sentence means:

A. T had seen you for a long time.
B. I have seen you for a long time.
C. 1 haven’t seen you for a long time.

D. I saw you again before long.

4. reason you may give, you ought not to have left
homework unfinished.
A. What B. No matter
C. However D. Whatever

5. It seemed only several minutes he finished this
painting.
A. after B. before
C. when D. until

6. Il lend you my car you return it intact.

o4



A. so far as B. as long as

C. unless D. until
7. The secretary made a note of it she should for-
get.
A. in order that B. in case
C. so that D. ever when
8. No matter says no to us, we will return to our
motherland.
A. whoever B. who
C. what D. whatever
9. It was that they planned to have a picnic.
A. such fine weather B. so fine a weather
C. such a fine weather as D. such a fine weather
10. Smith has made that we are all surprised.
A. such much progress B. so fine a progress
C. such a great progress as D. so much progress
11. you say yes to us, we will do some mountain-
climbing during this summer vacation.
A. Whatever B. However
C. Whether or not D. What
12. - Please do it . I show you, otherwise you won’t be
able to do it well.
A. like B. because
C. according to D. as
13. » he knows a lot about American literature.

A. A child though he is not
B. A child as he is
C. Child as he is



14.

15.

16.

17.

18.

19.

20.

D. As he is a child

Which choice is wrong?

A. With all his great achievements, Einstein was stilll very
modest.

B. Although Einstein had made great achievements, he was
still very modest.

C. Even if Einstein had made great achievements, he was
still very modest.

D. Though Einstein had made grdat achievements, but he
was still very modest.

The day breaks, the birds are singing.
A. as B. beeause
C. for D. since

he sometimes says something rude to me, yet I
believe in him.

A. In spite of B. Despite

C. Now that D. Although

The climate here is of Los Angeles.

A. better than the weather B. as good as climate
C. better than that D. better than it
Shanghai has a larger population .

A. than that of Beijing B. than that in Beijing’s
C. than Beijing D. than Beijing’s

TV sets made in Shanghai are better than made
in Tianjing.

A. that B. what

C. those D. things

We are going to have a barbecue -it rains.

X



21.

22.

23.

24.

25.

26.

27.

28.

A. if not B. when

C. except that D. unless
He wouldn’t give up smoking his doctor told him
it was a matter of life and death.
A. except when B. after
C. until D. in case
I sent the letter early that morning she got it
that afternoon.
A. in order that B. so that
C. for purpose that D. in order for
did it, I didn’.
A. Who B. Whoever
C. No matter whom D. No matter when

I know, the computer can never take the place of

the human brain.

A. As for B. As long as
C. So far for D. So/As far as
I paid only 5 pounds for the book, I expected it
would cost.
A. not as many as B. not so much as
C. cheaper than D. not so expensive
you have got used to it, youll like it.
A. While B. On the condition
C. Once D. Unless
Welll carry the work through, cost it may.
A. what B. when
C. where D. how
Persist to the end, you are the only one left.

o7



29.

30.

A. even if/though B. but
C. however D. in spite of
He always talks he had been to outer spacc.
A. like B. as if/though
C. bceause of D. as
we walk, we shall get there.
A. The quickly <+ the early
B. Quick - early
C. The more quickly <-- the ecaflier
D. The more quicker ¢+ the more earlier.
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1. Which choice is wrong? stay inside today.
A. Better to B. You had better
C. You’d better D. It is better/advisable for you to

2. Being away for a long time, she is looking forward to
to join the family.

A. return B. returning
C. return back D. returning back
3. Accidents are often by carelessness.
A. made B. led
C. caused D. led to
4. Why don’t you do some.shopping?
A. Why not B. What about
C. How about D. For what not do
5.1 you when 1 was away from you.
A. have missed B. were missing



C. was missed D. did miss

6. Which choice is wrong? Your radio is blaring the whole day.

You’d better right now.
A. shut it off B. trun it off
C. switch it off D. close it
7. Which choice is wrong? your ten-speed bicycle.

A. I would like to see
B. I should like to see
C. I would like seeing
D. Id like to see
8. Are you in the film?

A. interesting -** interested

B. interesting --- interesting
C. interested ¢-- interesting
D. interested °¢* interested

9. It is forty years since he home in Shanghai.

A. had left for B. was at
C. being far from D. left from

10. Which choice is wrong? The teacher helped the students

the street.

A. walk across B. (to) cross
C. go across D. to across

11. It was » for he didn% the traffic rules.
A. the boy fault -~ keep B. the boy’s fault --- break
C. the boy’s fault *+- obey D. the boy fault - observe

12. Do you know whether he is or ?

A. telling the truth -+ lies.
B. speaking the truth - telling lies.
o]0 -



